
 S1 

Supporting Information 

Benzothiazole Sulfinate: A Sulfinic Acid Transfer Reagent Under Oxidation Free 

Conditions 

 

Jacob J. Day, Deshka L. Neill, Shi Xu, and Ming Xian* 

 

Department of Chemistry, Washington State University, Pullman, WA 99164, United States 

 

 

 

 

 

 

  



 

Material

Diisoprop

sulfinate 

were pur

stated ot

maintain 

Each rea

gel 60 F2

silica ge

spectrom

MHz for 

in CDCl

Bruker U

Experim

Procedu

 

 

 

To a 100

was susp

(170 mg,

hours. Th

dried ov

purified v

white sol

 
 
 
 
 

ls and meth

pyl ethyl am

was synthe

rchased from

therwise. Al

desiccated 

action was m

254 plates (M

l (Sorbent T

meter at 400 M
1H and 150

3 (7.26 ppm

Ultraflextrem

mental Proce

re for Benz

0 mL round b

pended in 20 

, 1.0 mmoL)

he reaction w

ver MgSO4, 

via silica fla

lid, 285 mg, 

hods 

mine was fr

sized as pre

m commerc

ll reactions 

conditions. 

monitored via

Merck, kGaA)

Technologie

MHz for 1H

0 MHz for 13

m for 1H and

me MALDI T

edures 

zothiazolatio

bottom flask

mL of DMF

) benzyl bro

was diluted w

filtered and

ash column (

99% yield. 

eshly distill

eviously des

ial sources

were carrie

All reaction

a thin layer

). All silica f

es). All 1H 

H and 100 MH

C.  All chem

d 77 ppm fo

TOF mass sp

on  

k with magn

F and stirred

omide was ad

with 150 mL

d concentrat

9:1 hexane:

S2 

ed from cal

cribed.1 All

and were u

ed out unde

ns were stirr

chromatogra

flash column

and 13C NM

Hz for 13C o

mical shifts a

or 13C). Ma

pectrometer.

netic stir bar

d at room tem

dded and all

L ethyl aceta

ted via rota

ethyl acetate

lcium hydrid

 other chem

used withou

er ambient c

red via magn

aphy (TLC),

ns were perf

MR’s were

or a Varian V

are reference

ass Spectrom

 

was added 8

mperature. T

lowed to stir

ate and wash

ary evaporat

e mobile pha

de. Sodium 

micals, reage

ut further pu

conditions w

netic Teflon

, using glass

formed using

recorded on

VNMRS spe

ed to residua

metry (MS) 

880 mg (4.0

To the stirring

r at room te

hed with bri

tor. The cru

ase) yielding

benzothiaoz

ents, and sol

urification u

with no effo

n coated stir

s supported

g 230 x 400

n a Bruker

ectrometer a

al solvent si

was recorde

0 mmol) BTS

g slurry, 0.1

emperature f

ne (3 x 100

ude product

g the produc

zle-2-

lvents 

unless 

ort to 

bars. 

silica 

mesh 

DRX 

at 600 

ignals 

ed on 

S and 

2 mL 

for 18 

mL), 

t was 

ct as a 



 S3 

2-benzylsulfonyl benzothiazole (1) 

 
Synthesized according to the general procedure. Isolated as a white solid in 99% yield, 285 mg. 

M.P.: 112.0-112.9 °C.  1H NMR (600 MHz, CDCl3) δ 8.26 (d, J= 12 Hz, 1H), 7.94 (d, J = 12 Hz, 

1H), 7.65 (t, J = 6 Hz, 1H), 7.58 (t, J = 6 Hz, 1H), 7.26-7.32 (m, 5H), 4.76 (s, 2H). 13C NMR 

(150 MHz, CDCl3) δ 165.18, 152.56, 137.04, 131.09, 129.20, 128.88, 127.97, 127.62, 126.33, 

125.47, 122.26, 61.00. MS (m/z): Calcd for C14H11NO2S2 [M
+] = 289.0, found: 289.0. All data 

matches previously reported characterization.2 

2-(phenethylsulfonyl) benzothiazole (2) 
 

 

Synthesized according to the general procedure at 0.1 mmol scale. Isolated as a white solid in 

95% yield, 29 mg. M.P.: 85.9-86.5 ºC. 1H NMR (400 MHz, CDCl3) δ 8.20 (d, J = 8.1 Hz, 1H), 

8.00 (d, J = 8.0 Hz, 1H), 7.67 - 7.54 (m, 2H), 7.24 (t, J = 7.0 Hz, 2H), 7.17 (t, J = 7.5 Hz, 3H), 

3.84 -3.75 (m, 2H), 3.25 -3.15 (m, 2H). 13C NMR (101 MHz, CDCl3) δ 165.63, 152.64, 136.85, 

136.75, 128.80, 128.36, 128.05, 127.65, 127.04, 125.45, 122.30, 55.86, 28.44. HRMS (m/z): 

Calcd for C15H14NO2S2 [M+H]+ = 304.0466, found: 304.0463. 

2-(pent-4-en-1-ylsulfonyl) benzothiazole (3) 
 

 
Synthesized according to the general procedure at 0.5 mmol scale. Isolated as colorless oil in 

99% yield, 132 mg. 1H NMR (400 MHz, CDCl3) δ 8.18-8.21 (m,1H), 7.98-8.01 (m, 1H), 7.55-

7.64 (m, 2H), 5.65-5.75 (1H, m), 5.02-5.05 (1H, m), 5.00 (t, J = 1.4 Hz,1H), 3.47-3.51 (m, 2H), 

2.19 (q, J = 7.1 Hz, 2H), 1.94-2.01 (m, 2H). 13C NMR (101 MHz, CDCl3) δ 165.76, 152.69, 

S

N
S

O

O



 S4 

136.72, 135.92, 128.01, 127.64, 125.43, 122.32, 116.79, 53.97, 31.94, 21.43. HRMS (m/z): 

Calcd for C15H14NO2S2 [M+H] + = 268.0466, found: 268.0461.  

2-(butylsulfonyl) benzothiazole (4) 
 

 
 
Synthesized according to the general procedure at 0.2 mmol scale. Isolated as colorless oil in 

95% yield, 49 mg. 1H NMR (600 MHz, CDCl3) δ 8.21 (dt, J = 8.3, 0.9 Hz, 1H), 8.01 (dd, J = 7.4, 

0.8 Hz, 1H), 7.63 (ddd, J = 8.3, 7.1, 1.3 Hz, 1H), 7.59 (ddd, J = 8.2, 7.1, 1.3 Hz, 1H), 3.54 – 3.48 

(m, 2H), 1.90 – 1.81 (m, 2H), 1.47 (h, J = 7.4 Hz, 2H), 0.93 (t, J = 7.4 Hz, 3H). 13C NMR (151 

MHz, CDCl3) δ 165.91, 152.72, 136.74, 127.97, 127.61, 125.43, 122.33, 54.48, 24.21, 21.53, 

13.44. HRMS (m/z): cacld C11H14NO2S2 [M+H] + = 256.0466, found: 256.0461. 

2-((3-methylbut-2-en-1-yl) sulfonyl) benzothiazole (5) 

 

Synthesized according to the general procedure at 0.1 mmol scale. Isolated as a white solid in 

97% yield, 26 mg. M.P.: 80.8-82.2 ºC. 1H NMR (600 MHz, CDCl3) δ 8.22 (dt, J = 8.3, 1.0 Hz, 

1H), 8.01 (dt, J = 8.0, 0.9 Hz, 1H), 7.63 (ddd, J = 8.4, 7.2, 1.3 Hz, 1H), 7.59 (ddd, J = 8.3, 7.2, 

1.3 Hz, 1H), 5.25 (tp, J = 7.9, 1.4 Hz, 1H), 4.22 (d, J = 7.9 Hz, 2H), 1.73 (d, J = 1.5 Hz, 3H), 

1.57 (d, J = 1.3 Hz, 3H). 13C NMR (151 MHz, CDCl3) δ 165.87, 152.69, 144.89, 137.01, 127.89, 

127.57, 125.38, 122.26, 108.54, 54.74, 25.97, 18.29. MS (m/z):  Calcd for C12H13NO2S2  [M]+ = 

267.0, found: 267.0. All data matches previously reported characterization.3 

2-(benzothiazol-2-ylsulfonyl)-1-phenylethan-1-one (6) 

 

Synthesized according to the general procedure at 0.1 mmol scale. Isolated as a white solid in 

91% yield, 29 mg. M.P.:120.1-122.3 ºC. 1H NMR (600 MHz, CDCl3) δ 8.08 (d, J = 7.3 Hz, 2H), 



 S5 

7.81 (d, J = 8.1 Hz, 1H), 7.75 (d, J = 8.0 Hz, 1H), 7.63 (t, J = 7.4 Hz, 1H), 7.51 (t, J = 7.8 Hz, 

2H), 7.40 (t, J = 8.2 Hz, 1H), 7.29 (t, J = 7.6 Hz, 1H), 4.97 (s, 2H). 13C NMR (151 MHz, CDCl3) 

δ 192.94, 165.22, 152.84, 135.51, 133.82, 128.80, 128.58, 126.02, 124.40, 121.49, 121.06, 40.97. 

MS (m/z):  Calcd C15H11NO3S2Na [M+Na]+ = 340.0, found: 340.0. All data matches previously 

reported characterization.4 

2-((1-phenylethyl) sulfonyl) benzothiazole (7) 

 
Synthesized according to the general procedure at 0.1 mmol scale. Isolated as a colorless oil in 

98% yield, 30 mg. 1H NMR (600 MHz, CDCl3) δ 8.23 (d, J = 8.3 Hz, 1H), 7.90 (d, J = 8.1 Hz, 

1H), 7.62 (td, J = 8.3, 7.7, 1.2 Hz, 1H), 7.58 – 7.53 (m, 1H), 7.33 – 7.23 (m, 5H), 4.85 (q, J = 7.2 

Hz, 1H), 1.90 (d, J = 7.2 Hz, 3H). 13C NMR (151 MHz, CDCl3) δ 165.00, 152.61, 137.17, 

132.15, 129.64, 129.23, 128.71, 127.86, 127.51, 125.45, 122.16, 65.28, 14.06. HRMS (m/z): 

Calcd for C15H14NO2S2 [M+H]+ = 304.0466, found: 304.0463. 

ethyl 2-(benzothiazol-2-ylsulfonyl) butanoate (8) 
 

 
Synthesized according to the general procedure at 1.0 mmol scale. Isolated as a colorless oil in 

95% yield, 297 mg. 1H NMR (600 MHz, CDCl3) δ 8.24 (d, J = 8.2 Hz, 1H), 8.01 (d, J = 7.9 Hz, 

1H), 7.68 – 7.57 (m, 2H), 4.37 (dd, J = 9.6, 5.1 Hz, 1H), 4.18 (q, J = 7.1 Hz, 2H), 2.32 – 2.25 (m, 

2H), 1.13 (t, J = 7.1 Hz, 3H), 1.08 (t, J = 7.5 Hz, 3H). 13C NMR (151 MHz, CDCl3) δ 164.68, 

152.61, 137.11, 128.18, 127.69, 125.65, 122.25, 122.24, 71.09, 62.56, 19.96, 13.80, 11.46. 

HRMS (m/z):  Calcd for C13H16NO4S2 [M+H]+ = 314.0521, found: 314.0518. 

Benzothiazole Removal 

S

N
S

O

O



 S6 

 

 

Procedure A 

In a 10 mL round bottom flask with magnetic stir bar, 56 mg (0.20 mmol) 2-benzylsulfonyl 

benzothiazole 1 was dissolved in 2 mL of ethanol at room temperature. To this solution, 15 mg 

(0.4 mmol) NaBH4 was added and allowed to stir for two hours. The solution was concentrated 

via rotary evaporator. 4 mL hexanes was added to the crude product revealing the product as a 

white solid, which was filtered and washed with additional hexanes, then dried under high 

vacuum. The product was obtained in almost quantitative yield, 36 mg.  

Procedure B 

To a 10 mL round bottom flask with magnetic stir bar was added 28 mg (0.10 mmol) 2-

benzylsulfonyl benzothiazole 1 and suspended in 0.5 mL of acetonitrile and 0.25 mL of water 

and stirred vigorously at room temperature. To this solution, 0.084 mL of NaOH solution in 

water (2.3 M) was added. Within 10 minutes, the reaction had become homogeneous and was 

monitored by TLC. After 30 hours, TLC showed no starting material remaining. The solution 

was diluted to 10 mL of water, and washed with DCM (4 x 20 mL). The aqueous layer was 

concentrated on a rotary evaporator yielding the product as a white solid. 16 mg, 89 % yield.  

Procedure C 

In a 10 mL round bottom flask with magnetic stir bar, 58 mg (0.20 mmol) 2-benzylsulfonyl 

benzothiazole 1 was suspended in 0.5 mL acetonitrile and 0.5 mL water and stirred vigorously at 

room temperature. To this solution 11 mg (0.22 mmol) NaHS • H2O was added. After 3 hours, 

the reaction became totally homogeneous and was monitored by TLC. After 12 hours, TLC 

showed no starting material remaining. The solution was diluted to 10 mL with water and 

washed by DCM (4 x 20 mL). The aqueous layer was concentrated on a rotary evaporator 

yielding the product as a white solid. 27 mg, 75 % yield.  

Procedure D 



 S7 

In a 10 mL round bottom flask with magnetic stir bar, 32 mg (0.30 mmol) Na2CO3 was 

suspended in 2 mL DCM and stirred vigorously at room temperature. To this, 30 µL (30 mg, 

0.24 mmol) freshly distilled benzyl mercaptan was added and stirred for 10 minutes. To the 

solution was added 58 mg (0.20 mmol) 2-benzylsulfonyl benzothiazole 1 and the reaction was 

monitored by TLC over 18 hours. The reaction was diluted with 10 mL water then washed with 

DCM (3 x 20 mL). The aqueous layer was concentrated on a rotary evaporator yielding the 

product as a white solid. 32 mg. 91 % yield.  

Sodium phenylmethanesulfinate (10) 
 

 
Synthesized according to procedure A at 0.1 mmol scale. White solid in 98% yield, 17 mg. 1H 

NMR (600 MHz, CD3OD) δ 7.31 – 7.24 (m, 4H), 7.23 – 7.17 (m, 1H), 3.51 (s, 2H). 13C NMR 

(151 MHz, CD3OD) δ 133.32, 129.52, 127.80, 126.22, 69.52. MS (m/z) Calcd for C7H7O2S [M-

Na]- = 155.0, found: 155.0. All data matches previously reported characterization.5 

Sodium 2-phenylethane-1-sulfinate (11) 

Synthesized according to procedure A at 0.25 mmol scale. The product was isolated as a white 

solid in 98% yield, 47 mg.  1H NMR (400 MHz, CD3OD) δ 7.28 – 7.18 (m, 4H), 7.18 – 7.08 (m, 

1H), 2.90 – 2.84 (m, 2H), 2.55 – 2.46 (m, 2H). 13C NMR (101 MHz, CD3OD) δ 141.03, 128.01, 

127.99, 125.46, 63.16, 28.31. MS (m/z): Calcd C8H9O2S [M-Na]- = 169.0, found: 169.0. All data 

matches previously reported characterization.6 

Sodium pent-4-ene-1-sulfinate (12) 

  
Synthesized according to procedure A at 0.25 mmol scale. Isolated as a white solid in 95% yield, 

37 mg. Matches previously reported NMR data.2 1H NMR (400 MHz, D2O) δ 5.74 (ddt, J = 17.0, 

10.2, 6.6 Hz, 1H), 5.00 – 4.84 (m, 2H), 2.26 – 2.17 (m, 2H), 2.01 (q, J = 7.2 Hz, 2H), 1.52 (p, J = 



 

7.5 Hz, 2

for C5H

character

Sodium 
 

 
Synthesiz

solid in 7

(m, 1H), 

169.0329

General 

 

 

To a 50 m

mL ethan

mmol) o

remainin

mmol) io

cooled to

mL of br

chromato

yield.  

Benzyl m

 
Synthesiz

99% yiel

2H). 13C NM

H9O2S [M-N

rization.7 

1-phenyleth

zed accordin

75% yield, 3

3.15 (q, J =

9, found: 169

Procedure 

mL round bo

nol and 10 m

f NaBH4 wa

ng. Then, 550

odomethane,

o room temp

rine, dried o

ography (9:1

methyl sulfo

zed accordin

ld, 340 mg, M

MR (101 MH

Na]- = 133

hane-1-sulfi

ng to proced

6 mg. 1H NM

 7.2 Hz, 1H)

9.0331.  

for the Tra

ottom with a

mL THF and 

as added and

0 mg (4.0 m

, heated to 

perature and 

over MgSO4

1 Hexane: eth

one (14) 

ng to the ge

M.P.: 126-1

Hz, D2O) δ 1

3.0, found:

inate (13) 

dure A at 0.2

MR (600 MH

), 1.46 (d, J

ans-sulfuriza

a magnetic s

stirred at ro

d allowed to

mmol) K2CO3

80ºC, and a

diluted to 1

, and concen

hyl acetate m

eneral proced

27 ºC. 1H N

S8 

38.64, 114.9

 133.0. A

25 mmol sca

Hz, Methano

= 7.2 Hz, 3H

ation of Ben

stir bar, 590

om tempera

o stir for one

3 was added

allowed to st

50 mL with

ntrated. The

mobile phase

dure at 2.0 m

NMR (600 M

95, 60.05, 32

All data m

ale. The pro

ol-d4) δ 7.30

H). HRMS C

nzothiazole

mg (2.0 mm

ature. To the

e hour. TLC

to the soluti

tir overnigh

h ethyl acetat

e crude prod

e) yielding 3

mmol scale.

MHz, CDCl3)

2.25, 20.95. 

atches prev

oduct was is

0 – 7.21 (m,

Calcd for C8

Sulfones 

mol) of 1 wa

stirring solu

C showed no

ion followed

ht. The react

te, then was

duct was pur

340 mg of a 

. Isolated as

) δ 7.41 (s, 5

MS (m/z): C

viously rep

olated as a w

 4H), 7.20 –

8H9O2S [M-N

as dissolved

ution 150 mg

 starting ma

d by 0.19 mL

tion solution

hed with 3 x

rified via co

white solid,

s a white sol

5H), 4.25 (s,

Calcd 

ported 

white 

– 7.14 

Na]- = 

in 10 

g (4.0 

aterial 

L (3.0 

n was 

x 150 

olumn 

, 99% 

lid in 

, 2H), 



 S9 

2.75 (s, 3H). 13C NMR (151 MHz, CDCl3) δ 130.50, 129.12, 128.31, 61.31, 39.00. MS (m/z): 

Calcd for C8H10O2S [M+H] =171.0, found: 171.0. All data matches previously reported 

characterization.8 

(2-(methylsulfonyl) ethyl) benzene (15) 

Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a white solid in 

99% yield, 36 mg. M.P.: 79.3-80 ºC. 1H NMR (600 MHz, CDCl3) δ 7.33 (t, J = 7.5 Hz, 2H), 7.31 

– 7.21 (m, 3H), 3.33 – 3.27 (m, 2H), 3.20 – 3.14 (m, 2H), 2.81 (s, 3H). 13C NMR (151 MHz, 

CDCl3) δ 137.37, 128.99, 128.41, 127.16, 56.20, 41.00, 28.58. MS (m/z): Calcd for C9H12O2S 

[M+] = 184.0, found: 184.0. All data matches previously reported characterization.9 

((pent-4-en-1-ylsulfonyl) methyl) benzene (16) 
 

Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a white solid in 

73% yield, 34 mg. M.P.: 82.5-84.5 ºC. 1H NMR (600 MHz, CDCl3) δ 7.40 (s, 5H), 5.70 (ddt, J = 

18.0, 9.5, 6.7 Hz, 1H), 5.03 (dq, J = 6.0, 1.5 Hz, 1H), 5.00 (t, J = 1.4 Hz, 1H), 4.21 (s, 2H), 2.85 

– 2.77 (m, 2H), 2.18 – 2.07 (m, 2H), 1.94 – 1.85 (m, 2H). 13C NMR (151 MHz, CDCl3) δ 136.17, 

130.50, 129.05, 128.07, 116.53, 59.54, 50.29, 32.13, 29.68, 20.92. HRMS (m/z): Calcd for 

NaC12H16O2S [M+Na]+ = 247.0769, found: 247.0764. 

(2-(pent-4-en-1-ylsulfonyl) ethyl) benzene (17) 
 

 
Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a colorless oil in 

79% yield, 38 mg. 1H NMR (600 MHz, CDCl3) δ 7.39 – 7.30 (m, 2H), 7.30 – 7.23 (m, 1H), 7.23 

– 7.19 (m, 2H), 5.71 (ddt, J = 16.2, 10.7, 6.7 Hz, 1H), 5.08 – 5.04 (m, 1H), 5.03 (t, J = 1.4 Hz, 

1H), 3.26 – 3.21 (m, 2H), 3.17 – 3.11 (m, 2H), 2.89 – 2.83 (m, 2H), 2.19 – 2.12 (m, 2H), 1.95 – 

1.86 (m, 2H). HRMS (m/z): Calcd for NaC13H18O2S [M+Na]+ = 261.0925, found:261.0934. 

 



 S10 

(((3-methylbut-2-en-1-yl) sulfonyl) methyl) benzene (18) 

  
Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a white solid in 

94% yield, 46 mg. M.P.: 79.2-79.8 ºC. 1H NMR (600 MHz, CDCl3) δ 7.39 (s, 5H), 5.32 – 5.25 

(m, 1H), 4.18 (s, 2H), 3.57 (d, J = 7.7 Hz, 2H), 2.16 (s, 2H), 1.83 (s, 3H), 1.65 (s, 3H). 13C NMR 

(151 MHz, CDCl3) δ 142.81, 130.65, 128.93, 128.90, 127.90, 110.05, 58.15, 51.65, 26.04, 18.54. 

HRMS (m/z): Calcd for NaC15H16O2S [M]+ = 247.0768, found: 247.0767. 

 
(2-(benzylsulfonyl) ethyl) benzene (19) 
 

 
Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a white solid in 

92% yield, 48 mg. M.P.: 123.5-124.5 ºC. 1H NMR (400 MHz, CDCl3) δ 7.42 – 7.19 (m, 8H), 

7.15 (dd, J = 7.0, 1.8 Hz, 2H), 4.17 (s, 2H), 3.08 (s, 4H). 13C NMR (101 MHz, CDCl3) δ 137.55, 

130.50, 129.10, 129.08, 128.90, 128.49, 127.86, 127.08, 59.97, 52.55, 28.00. HRMS (m/z): 

Calcd for NaC15H16O2S [M+Na]+ = 283.0768, found: 283.0766. 

 (1-(benzylsulfonyl) ethyl) benzene (20) 
 

 
Synthesized according to the general procedure at 0.2 mmol scale. Isolated as a white solid in 

70% yield, 38 mg.  M.P.: 99-101 ºC. 1H NMR (600 MHz, CDCl3) δ 7.48 – 7.38 (m, 5H), 7.36 

(dt, J = 4.5, 2.9 Hz, 3H), 7.32 – 7.28 (m, 2H), 4.10 (q, J = 7.2 Hz, 1H), 4.00 (d, J = 2.9 Hz, 2H), 

1.76 (d, J = 7.2 Hz, 3H).13C NMR (151 MHz, CDCl3) δ 153.85, 134.37, 130.87, 129.22, 129.07, 

128.97, 128.76, 127.41, 62.18, 56.43, 14.40. HRMS (m/z): Calcd for NaC15H16O2S [M+Na]+= 

283.0768, found: 283.0765. 



 

Results o

Isopropy

to react i

no isolat

may hav

attempts 

has not 

consisten

few reac

can provi

 

Represen

 

 

 

In a 50 m

ethanol a

mg (4.0 

remainin

DIPEA, 9

of mCPB

with 150

saturated

The crud

phenylm

N-benzy
 

 

of using seco

yl bromide, is

in sulfinic ac

able produc

ve been form

to repeat the

been carried

nt with other

tions reporte

ide, and ofte

ntative Proc

mL round bo

and 10 mL T

mmol) NaB

ng, then 0.2 m

970 mg (3.0

BA were add

0 mL of eth

d NaHCO3 (2

de product w

ethanesulfon

yl-1-phenylm

ondary alkyl 

sopropyl iod

cid exchang

ts were seen

med when 

e reaction no

d out befor

r reactions be

ed with gen

en using aryl

cedure for t

ottom with a 

THF and stir

BH4 and all

mL (150 mg

 mmol) of te

ded sequenti

hyl acetate 

2 x 150 mL)

was purified

namide as a 

methanesulf

halides 

dide, bromoc

ge (Table 4).

n via TLC o

using 2-but

o meaningfu

e to the be

etween secon

erally poor

l sulfinate.10

the One Pot

magnetic st

rred at room

lowed to sti

g, 2.0 mmol

etrabutyl am

ially and all

and washed

), and brine

d flash colum

white solid.

fonamide (2

S11 

cyclohexane

 However, e

or crude NM

tyl bromide

ul amount of

est of our k

ndary halide

yields, at hi

 

t Sulfonamid

ir bar, 590 m

temperature

ir for one h

s) of n-buty

mmonium bro

lowed to stir

d with 100

(3 x 150 m

mn chromato

42% yield. 

3) 

, and 2-buty

even at high

MR for any r

and benzy

f product cou

knowledge. T

es and sulfin

igher temper

dation of Be

mg (2.0 mmo

e. To the stir

hour. TLC s

ylamine, 520

omide (TBA

r for 18 hou

mL of satu

mL), dried ov

ography yie

yl bromide w

h temperatur

reaction. So

l sulfinate b

uld be isolat

These resul

nic acid deriv

rature than T

enzothiazol

ol) 1 was dis

rring solutio

showed no 

0 µL (390 m

AB), and 148

urs. The reac

urated NaS2

ver MgSO4 a

elding 190 m

were all attem

res (up to 80

me trace pro

but after se

ted. This rea

ts are some

vatives. Ther

THF and eth

le Sulfones

ssolved in 1

on was added

starting ma

mg, 3.0 mmo

80 mg (6.0 m

ction was di

2O3, followe

and concentr

mg of N-but

mpted 

0 oC), 

oduct 

everal 

action 

ewhat 

re are 

hanol 

0 mL 

d 150 

aterial 

ls) of 

mmol) 

iluted 

ed by 

rated. 

tyl-1-



 S12 

The general procedure for sulfonamidation was followed to give the product as a white solid in 

52% yield, 30 mg (in 0.2 mmol scale). M.P.: 142.0-145.2 ºC. 1H NMR (600 MHz, CDCl3) δ 7.38 

– 7.25 (m, 10H), 4.47 (t, J = 6.0 Hz, 1H), 4.20 (s, 2H), 4.13 (d, J = 5.8 Hz, 2H). 13C NMR (151 

MHz, CDCl3) δ 136.80, 130.63, 128.82, 128.80, 128.75, 128.09, 128.03, 127.96, 59.40, 47.66. 

MS (m/z): Calcd for NaC14H15NO2S [M+] = 284.0721, found: 284.0725. 

N-cyclohexyl-1-phenylmethanesulfonamide (24) 
 

The general procedure for sulfonamidation was followed. The product was obtained as a white 

solid in 48% yield, 24 mg (in 0.2 mmol scale). 1H NMR (400 MHz, CDCl3) δ 7.43 – 7.32 (m, 

5H), 4.23 (d, J = 1.2 Hz, 2H), 3.90 (d, J = 7.7 Hz, 1H), 3.11 (m, 1H), 1.90 (dd, J = 12.6, 3.8 Hz, 

2H), 1.71 – 1.60 (m, 2H), 1.24 – 1.04 (m, 6H). 13C NMR (151 MHz, CDCl3) δ 130.68, 129.55, 

128.67, 128.63, 60.06, 53.32, 34.55, 25.12, 24.77. HRMS (m/z): Calcd for NaC13H19NO2S 

[M+Na]+ = 276.1033, found: 276.1033.  

N-butyl-1-phenylmethanesulfonamide (25) 
 

 
 
The general procedure for sulfonamidation was followed. The product was isolated as a white 

solid in 42% yield, 95 mg (in 1.0 mmol scale). M.P.: 77.5- 79.5 ºC. 1H NMR (400 MHz, CDCl3) 

δ 7.37 (s, 5H), 4.23 (s, 2H), 4.08 (q, J = 6.4 Hz, 1H), 2.96 (q, J = 6.8 Hz, 2H), 1.45 (m, 2H), 1.34 

– 1.26 (m, 2H), 0.87 (t, J = 7.3 Hz, 3H). 13C NMR (101 MHz, CDCl3) δ 130.54, 129.46, 128.79, 

128.68, 58.62, 43.43, 32.31, 19.62, 13.53. HRMS (m/z): Calcd for C11H17NO2SNa [M+Na]+ = 

248.0728, found: 248.0721.  

1-(benzylsulfonyl) pyrrolidine (26) 
 

 



 S13 

The general procedure for sulfonamidation was followed. The product was obtained as a white 

solid in 50% yield, 23 mg (in 0.2 mmol scale). M.P.: 75.0-76.6 ºC. 1H NMR (400 MHz, CDCl3) 

δ 7.45 – 7.30 (m, 5H), 4.25 (s, 2H), 3.15 (t, J = 6.7 Hz, 4H), 1.83 – 1.78 (m, 4H). 13C NMR (101 

MHz, CDCl3) δ 130.59, 129.47, 128.65, 128.56, 56.47, 48.10, 25.84. MS (m/z): Calcd for 

C11H15NO2S [M+] = 225.0, found: 225.0. All data matches previously reported characterization.11 

4-(benzylsulfonyl)morpholine (27) 
 
 

 
The general procedure for sulfonamidation was followed. The product was obtained as a white 

solid in 48% yield, 23 mg (in 0.2 mmol scale). M.P.: 170.1-172.0 ºC. 1H NMR (600 MHz, 

CDCl3) δ 7.39 (m, 5H), 4.23 (s, 2H), 3.63 – 3.58 (m, 4H), 3.12 – 3.07 (m, 4H). 13C NMR (151 

MHz, CDCl3) δ 130.70, 128.87, 128.84, 128.53, 66.69, 56.71, 46.10. HRMS (m/z): Calcd for 

NaC11H15NO3S [M+Na]+ =264.0670, found: 264.0668.  

References 
(1) Day, J. J.; Yang, Z.; Chen, W.; Pacheco, A.; Xian, M. ACS Chem. Biol. 2016, 11, 1647. 
(2) Deeming, A. S.; Russell, C. J.; Hennessy, A. J.; Willis, M. C. Org. Lett. 2014, 16, 150. 
(3)  Song, A.; Brueckner, R. Synlett 2005, 289. 
(4) Ou, S.; Cao, C. R.; Jiang, M.; Liu, J. T. Eur. J. Org. Chem. 2013, 2013, 6510. 
(5) Gao, J.; Pan, X.; Liu, J.; Chang, L.; Yuan, G. RSC Adv. 2015, 35, 27439. 
(6) Lassalas, P.; Gay, B.; Lasfargeas, C.; James, M. J.; Tran, V.; Vijayendran, K. G.; 

Brunden, K. R.; Kozlowski, M. C.; Thomas, C. J.; Smith, A. B.; Huryn, D. M.; 
Ballatore, C. J. Med. Chem. 2016, 59, 3183. 

(7) Hallock, J. S.; Galiano-Roth, A. S.; Collum, D. B. Organometallics 1988, 7, 2486. 
(8) Meninno, S.; Parrella, A.; Brancatelli, G.; Geremia, S.; Gaeta, C.; Talotta, C.; Neri, P.; 

Lattanzi, A. Org. Lett. 2015, 17, 5100. 
(9) Jiang, Y.; Loh, T. P. Chem. Sci. 2014, 5, 4939.  
(10) (a) Baidya, M.; Kobayashi, S.; Mayr, H. J. Am. Chem. Soc. 2010. 132, 4796. (b) Bair, K.; 

Baumeister, T.; Buckelter, A. J.; et. al.  PCT Int. Appl., 2012031197, 2012. (c) Martin, 
C.; Carreira, E. M.  J. Am. Chem. Soc. 2005, 127, 11505. 

(11) Zhou, G.; Ting, P.; Aslanian, R.; Piwinski, J. J. Org. Lett. 2008, 10, 2517. 



 S14 
 

S
O

O

N

S

1 



 S15 
 

S
O

O

N

S

2 



 S16 

 

N

S
S
O

O

3 



 S17 
 

N

S
S
O

O

4 



 S18 

 

 
 

N

S
S
O

O

5 



 S19  

N

S
S
O

O
O

6 



 S20 

N

S
S
O

O

7 



 S21 

 
 
 

S
O

ON

S
O

O
8 



 S22 

 
 

S
O

O
14 



 S23 

 

S
O

O

16 



 S24 

 
 

 

S
O

O

17 



 S25  

S
O

O

18 



 S26 
 

S
O

O

19 



 S27 

 

S
O

O

20 



 S28 
 

S
O

O H
N

23 



 S29 

 
 

S
O

O

H
N

24 



 S30 

S
O

O N
H

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

25 



 S31 

 
 

 

NS
O

O

26 



 S32 

 
 
 

S
O

O N
O

27 


